|. Circle the digit in each number that shows the tens.

26 16 39 52 8L ql

2. Count in 5s. Fill in the missing numbers.

5

O

3. Finish the bills.

L. Add and Take

29 + 10 -9 =
L2 +20- 11 =
65 + 15— 20 =

32+ 16-18 = 36 + 18 — I+ =
56 + Ik — 25 = 62+ 15-13=
8l +15-12 = 76 + 18 -16 =

Tom had 27

21 conkers.

have altogether?

conkers and Finn found

How many conkers did they

Bess laid 39
eggs in a
week.

Topsy laid
21 eggsin
a week.

How many eggs did Bess and Topsy

together lay in a week?

How many more eggs does
Hetty have to lay to give the
farmer 75 eggs?

22




